T 10 e & vt ool S-RAEH & I W A SNOHLAIR. ST W @ i O oeRd & 1 AR ORISR T 9 Se-gRas
%Wﬁﬁ%maﬁggﬁmssingWmsprintﬁﬁﬁﬂmaﬁaﬁmm-mwal

Sub. Code No. — 1317 Level -3

PGT - For Lecturer
[ 1 Exam., 2023

SET-A BIOLOGY - GReTH i T SO G i

Question-Booklet Serial No. & O. M. R. Serial No.

39 U-gRaw & gt @ de uw @ dem T

No. of Pages in this Question Booklet — 48 | No. of Questions — 150 Time — 2.30 hours
ST (BT ) / ROI NO. (IN FIGUFES) ..o
ST (FTRT H) / RO NO. (IN WOIES) ... eeeeeeeessssssaae e eeeeeeeesssss s e
TOET B BT AT / NAME Of EXAMINATON CENE ...cvvoveecveecveoeveeeves e s s s s sens s ses s sesssses s e sses e sese s ee s en s eesssess s ee e essneenan
AT BT TATT/ NAME OF CANGIAALE ....ove e eeee e ee e ee e e e e e e e e ee oo ee s e e es e ee e see e e seseee e eee e seneeseree
et & TE®R / Signature of Candidate 1l @ SR / Signature of Invigilator

et 10 BFe F 9 g9 W B4 el B w7 qu SR T § e REwer A & e R smem aR ge-gRawm @ oW =
N FH HO T Sfhd & A1 By IS missing qM misprint B A T PR UGS § AT H IT-IRAHN T/ A1 IHb GBS @
HHR T B sem 37 10 B @ iR, ge 3 SW oikd F B R R 2.30 R @ oo Rar som IR Bl el @
ge-gRaem & Ru T Rl o o § A8 R @R W wie & A g R ol o sy @ Su dfvaeT % @ R s R
ST o T FreiRa SR $ ARM 39 @ 7 U SRiaeT 98 FEed 7 6 S 99 8 36 AR 3 96, 39§ § A
fEet W A Rer 7@t Ren smem

IR Bl go7 § B 7 oA aregm 7 Ry & at o aregm #w g9 3T TAT AW

If there is any variance between Hindi and English Version of any question then English Version would be considered correct.

ﬂﬂﬁﬁ % e ﬁiﬂl/ Instructions for the Candidates :—

1. SR, IR OF 30 IT-JRH & X T@ 8l 9 ST Ie-GRaH T H Fel S, A S T M H e § dAd w A
‘alg‘ff ﬁ;f @( foar ‘ﬂz{tl / The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the Question Booklet, take
out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.

2. UM ol 2.30 g 2 U@ QQ:T-W # 150 ueT ¥ B WONHD HH Tt 1 / The test is of 2.30 hours duration and consists of

150 questions. There is no negative marking.

3. AT R ok 0 @ S TE W MM @ & T 3ed B a9 O F S B el 9eT-gRaEm B Iwa & w
I U5 P AT § @Y 91 / Use Black Ball Point Pen only for writing particulars on this page/darkening responses in the
Answer Sheet. The candidate should remain careful in handling the question paper and in darkening the responses on the answer

sheet.

4. yum 10 fFe #, 75 A ghRed & & B ae-gRam #HF o S T FHiE 0 8 81 OFR 38 B 8 a1 ged-giae § a3 s
missing I1 misprint & et iﬂﬁ H-‘FT-WEH AN T ©H o9 B fora e P [SASSESENN] Wﬁl / Within first 10 minutes,
also ensure that your Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy or any page
missing/misprint in test booklet, then the candidate should immediately report the matter to the Invigilator for replacement of both
the Question Booklet and the Answer Sheet.

5. AaA-3 [ YaHT & fo ] 5. Level-3 [ For Lecturer ]
qF-1 S o 9 Rem e 71 | 599 30] PART-1 : Child Development and
S LB o [T 31 & ¥ 60] DRRTL : L Pedagogy [c[)insl :O g”' Zg}
. T -II : Language: n. o Qn.

(- 155 = 11857 (Hindi : 15 Qn. & English : 15 Qn.)

AL T S [T 61 & 537 90] PART-III: General Studies : [Qn. 61 to Qn. 90]
(' A q’; T : 10 9, Tk ST : 10 SR, |Ird (Quantitative Aptitude : 10 Qn, Reasoning
T T A : 10 95) Ability : 10 On, G. K. & Awareness : 10 Qn.)

-V ¢ S faem @791 § U3 150] PART-IV: Biology [Qn. 91 to Qn. 150]

|[§3‘T€{T ESS W & o ¥ Ru 9w R @ ‘?Iﬁfl / Please read other remaining instructions given on the last page of this booklet.]l




% 4 & T [FOR ROUGH WORK]

Download from www.MsEducationTv.com



9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa gt & SR 39 & e @9d SR faswed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

qrfor &9 G dferd s== % e e
e 1 fR7e IugeRt =il ?

1) omuEe faeEm
2) fafdre forem
3) st fren
4) ot e
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SRR 1 B 101115 B o S e et [«
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TF gemsd e § fefated § 9
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1) STEn Ride
2) 3iq ot
3) U= FHUA
4) IR =R

[ Level-3/1317]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.
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4.
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[ Level-3/1317]

4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative



1.
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1.

8.

9.

[5/A]

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (D) & (d)

3) (@, (c) & (d)

4) (@, ®), (©) & (9

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation
behaviour

impairs learning

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.



[6/A]

10.

11.

12.

[ Level
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-3/1317]

10.

11.

12.

Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@ @
) 1 III II I
2) III II Im 1
3) II 111 I II
4) 1I I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual



13.

14.

Frefafed & & a9-@0 Temd &
AR 0 i Hl AR & ?

(a) fofad

(b) A%

(c) RIS

(d) s

7ET HT W T I
%< -

1) (a), (b) W (d)
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el wd oTpicRl BT B &
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13.

14.

[7/A]

Which of the

examinations are

following
the basis of

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test

individual or group.

can be either

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.



[8/A]

15. frfefaa & & d9- JH e & 15. Which of the following pair is not

ProTmar g@ Rrsid & o g@ ® correct regarding elements of
dd T 3% AOM P dey § TR intelligence and their dimension,
Ter %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g&&' % @ HEH Intelligence
1) IHE IS 1) Unit Product
2) G fspar 2) Cognition Operation
3) Hediw fspar 3) Evaluation Operation
4) gy ey 4) Relations Content

16. g & @ @9-d@ 9@ df=a 16. Which one of the following is not a

AR gRehoT Hl TqE fRIver 78 key feature of child centred

g7 learning approach ?

1) GefE dEe & e 1) Meaningful learning

opportunities

2) UHd [T qr 2) Single learning pathway

3) €ad ‘1@1’4’7'[ 3) Continuous assessment

4) ™ fareror |fdT| 4) Accessible learning settings
17. g0 % SFJAR, JeOTes dE @ 17. According to Bandura, which is not

HV-G SraHeeT ke 78 & ? the interrelated processes of

observational learning ?

1) SA9YMEIHS BIEDIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) IXOT® yfshamd 3) Motivational Processes

4) LDIEEI e EIY 4) Conjunctional Processes

[ Level-3/1317]
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20.

21.

4) T HIE (3T5H) qeH

e B B £ o R R G
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e AT | 1 A e M e et e
UrEl ofaeenet & @@ W B T
FifoTT

1) gEEen — i ggEEeEr -
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2) TEEE — FEEEe — [T
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RCICEl]

3) gEEE — TEERT — AT
TONEE - S Ee -
SEEIEI L]

4) EFFEEl - EEEr -
qEEe — SEAEgEE — T
PEIEICII]
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18.

19.

20.

21.

[9/A]

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.



[10/A]

22.

23.

24.

YaaE & e omEHE oM
SEITH & TERJNHT H HI-A1 FHIiTh
9 G H Haifds guad T ?

1) HHFITH

2) focifea

3) T&d

4) ULH

e & s O ’Meid @
e omen H oomd  Riew qwn
AT I &HaT g 8 St
g7

1) G-

2) Yd-GHAS

3) Yai-HishareTeh

4) NenRe-giharEs

yiqemanen foenf & fow freefoRea

T q g-a ARE e 787 B S
e ?

1) @ Uode dF & G

2) @I
3) YRS [Rreror
4) Gade HEHH

[ Level-3/1317]

22.

23.

24.

According to Pavlov's Classical
Conditioning theory of learning,
which
presentation  of

temporal sequence

natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous
2) Delay
3) Trace

4) Backward

In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program



25.

26.

21.

frefofeg & ¥ 9-a1 gu@sh fwem
H TF sid 78 8§ 7

1) TRl & RS

2) T @ f=ia

3) fafaerr &1 S F9M @l Rsid
4) e 3 AR @ fEia
fr=ifefeg & @ -1 dO& Jgfas

Rreraiell & ogaR Reor & gweq
7&f o ?

1) foeniEl &1 s=1 998

2) JaRTH R

3) UIgIshH H R

4) ToEiEl @ emaneT & FH

fafare  oTagmatel  d = @
AEEN B T & H Jehm
eI & g 8 S

1) &1 9599 &% [9aed | 9997 &+

2) gau g gREmd wem B

3) I AT SMETHar B TEAI
T eI § Sl TG

4) I HAAWEF HeEdl YAl TEH
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25.

26.

21.

[11/A]

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.



[12/A]

28. fr=fafad & 9 d9-91 &9 e &

29.

30.

g § o 78 B ?

1) [9FE IREES T ST Hw
3EE B

2) URR & & g a1 a6l
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3) fomm foX @ W i Rsm & om
T Bl

4) fopE =g o ¥ B # R
ol Bl

oL e & Bemrd Reia has
T ufquifed fohar ar ?

1) Piftey, W wd Rewnas
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1) S SE
2) e
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28.

29.

30.

Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3/1317]
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31.

32.

33.

34.

fqQwer & deg & dHi-ar @é gatad

7ET T 7

1) ARG - |5 9 i &L
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3) UREH - JUrErE Qe
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Ell
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1) SEf - @, 9 - e

2) WY - g, 79 - gEA
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4) THI - T, g - |
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4) VA - fRe™ o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ T ® 7

1) FUEE = FI + o6
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[ Level-3/1317]

35.

36.

31.

38.

fp faheq & TR W Sl
THE B ISET 78 & °

1) S, faEe
2) dHsard, RS
3) YA, HarE
4) UERR, qgqufa

frg faeq &1 = ‘o ITEd A
T 7&f = ?

1) AN

2) it
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e # 9 e 9w @ 9= foeee
gt | fafa € °
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2) ST, FHHET
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EaE 9|l ® g9g ¥ -
fereq ofgfaT @ °

1) I=A1 - fEART, gy, wede
2) &S - G, guH, HaT

3) T=A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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41.
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Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1317]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

| a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.



[16/A]

53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1317]



AW 11/ PART = Il
AT o799 / GENERAL STUDIES
RS QdT, diihe STl el 9T S U9 RGBT / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

[17/A]

fraer : fFefafad gl & SR 39 & e @9d S faeed g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

& A U9 X & 90 IR Sa7 f&am
# R oAl Je F@ @l ©, ol
SHS 19 B H R B

1) SI-gd
2) UltEH

3) T
4) TTR-UIRTH

Th T 20 I g R AR @ e
¥ uF gue # qur I g0 H@ AN @
oot s & 2 9@ & @@ & F,
@ A I H G @ A ©

1) 10 fHt/=ver
2) 12 f®Hl/g0e
3) 13 fHl/gver
4) 15 fHl/guer

[ Level-3/1317]

61.

62.

63.

If A stands on his head with his
North,
direction will his left hand point ?

face towards in which

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and

English both ?
1) 0 2) 3

3) 4 4) 5

P.T.O.



[18/A]

64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
99 7d W@ B & &M IW 4
oF WM W & T C & N 37 Nl
H O AT HE, A C & @W A H
He-AT B ?

1) odf
2) 104
3) 114
4) 124

U %= e 9 § 'CEG' &l ‘TSR’
dem 'FHJ' & 'QPO' for@m <mam &, &
TH @AM AW H OIKM' & femar
SR

1) NOP

2) NOL

3) NMK

4) NML

e}l EAML ¥ fha @efe 9 91
ST Hhd § 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgye d aiie Hv

EIoEET 7:2 @&, a@ 3
TS A TSl A B

1) 7 2) 8

3) 9 4) 11

[ Level-3/1317]

64.

65.

66.

61.

In a class of 35 students, A is
placed Tth the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11



68.

69.

10.

11.

frefafed @& S & SFET U
ST i
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 9T H,
T B T 1 d% P I 6 g F
W O HhaT 21 IR A A B T
Y 2 99¢ % o e & 99erq Ad
A P T¥ T &A1 C, T 9@ B &N
ST ¥ P WX AT ?

1) 2 g2 ¥

2) 2% g §

3) 3 guwe d

4) 3% g {

gfe fordr ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &, a
I Yot H 47+ 33 H AN B ¢

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R
oqr ?

1) ar

2) e

3) R

4) TR

[ Level-3/1317]

68.

69.

10.

11.

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 %« 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.



[20/A]

12.

13.

14,

15.

off 1 SFET T B
Z1A, X2D, V6G, T21], ?
1) R8TM
2) R8IN
3) R88P
4) R88M

x-3&, y-3& T 4x+3y =12 &N
Fftfd Brgst & awrrEa & B @

1) 2 3FE
2) 2.5 IHE
3) 3 IHE
4) 4 THE

g8 999 Bl & Fa s, e
15463 ¥ Siig< WX I IRT%S 107 §
qoiaan fasieta &1 S ©

1) 52
2) 55
3) 71
4) 16

[ Level-3/1317]

12.

13.

14.

15.

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM

2) R8IN

3) R88P

4) R88M

In English alphabet, the number of

letters skipped in between

adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?

1) DJOTV
2) DJOSV
3) DJOSW
4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit

2) 2.5 unit

3) 3 unit

4) 4 unit

Find the least number which must
be added to 15463 so that the
resulting number is
divisible by 107 :

1) 52

2) 55

3) 71

4) 176

exactly



16.

11.

18.

19.

UMl H g H fE g H PRt
ST ST fob O [ bl e e W
SO T 20% N AH B 7
1) 1:5 2) 2:8
3) 3:5 4) 4:8

us e Ui &1 4% affe W ®
2 99 % QT ThafE &N Ud AR
& & S ©

1) 52:51
2) 52:50
3) 51:50
4) B53:50

b

U # Tl T T MR AN
R 4 e ggEg A X ST TS &
50% e fan A af & o= H Fa
21,600 YA H AN A &, ol W
T Y B R B

1) 2,400 &9

2) 3,600 &7

3) 4,000 &

4) 4,200

q¢ A, B o C H

DN
W |
oo

Th A 20% Y 9 Th a&]
SO B, A W I & 12 TW@
it | o=, df IH 10% B AT
Bl 3 a%g H HY A ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3/1317]

16.

11.

18.

19.

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

23’5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.



[22/A]

80.

8l1.

82.

83.

Ve )

a*+a” 1-a
+
l-a 1++/a

a2

E

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Q

Qfrerfees g g oTafed © ¢

1) o R o
2) FHoee o |

3) IR P d
4) YT ot J

fPe BRAE 9 ST, 2023 H ARC
TS %l HaE {7

1) §9 faeg

2) ey e
3) 9y RIS

4) Tifed

gRaen & efated wogaen H 9
P oE W TH SR & ?

1) o gHdiR

2) 4 JIwR g S

3) 4t Bl ST W

4) o gLoid e guarierm

[ Level-3/1317]

80.

8l.

82.

83.

Ve 1 —Va

L1-a
1++va

1 _
a’*+a

is equal to :

—
|

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Qv

Historical village Sugh is located
in:

1) Ambala district
2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia



[23/A]

84. TRIFMIN WU & T W< &L & 84. The evidence of Stupa of Mauryan
period is found at :
1) U H 2) Pyt § 1) Topara 2) Bhiwani
3) g H 4) ead H 3) Thanesar 4) Rohtak
85. TiaT &l @HRIE fhH "W H A 85. Geeta Jayanti Samaroh is
S 8 ? celebrated in the month of :
1) s § 2) AELY ¥ 1) Kartik 2) Margshirsh
3) oM@ T §  4) @Y H 3) Ashvin 4) Shravana
86. BRI JaT H HAYBR AEN & T&A 86. Who is the Chief Commissioner of
SIRER] B E 7 Haryana  Right to  Service
Commission ?
1) & o dio Tl 1) ShriT.C. Gupta
2) ff foog agw 2) Shri Vijay Vardhan
3) @ LEE Yoot 3) Shri Rajesh Khullar
4) A faE T 4) Shri Vikas Gupta
81. UY Mamem & TR § FefaRad 81. Read the following statements
HIE B dfeU : about Sadhu Nischal Das :
() 9E a[g & R (i) He was a Dadu's disciple.
(i) 31 T g&H FER A (ii) He compiled a book 'Vichar
Gehlerd St Hag 3 w9 7 B Sagar' which is in form of
dialogue.
HE??Q@’ & T FIMT - Choose the correct code :
1) ®ad T (i) TR 2l 1) Only statement (i) is correct.
2) Fad HIT (ii) Tt 2l 2) Only statement (ii) is correct.
3) T A P (1) M A & FAT (i) 3) Neither statement (i) nor
el & statement (ii) are correct.
4) A I (@) MR (i) TE 2| 4) Both the statements (i) and (ii)
are correct.

[ Level-3/1317] P.T.O.



[24/A]

88. =RAMT ¥ RGN WoNE dx FEl Red 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) TR 3) TJhajjar
4) THa= 4) Bhiwani
89. BRIM T Hedhrl ?iﬁ Td I 89. When the Haryana State Co-
foere drE o # ®AT w9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥ad, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) S¥Ed, 1996 4) January, 1996

90. =Emm # aRdl™ SCkll MEnfen 90. Where in Haryana, the Indian

HEI el feud ® 7 Institute of Information Technology
is located ?

1) dea 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3/1317]



AR - IV / PART - IV
Siig {45 / BIOLOGY
fraer : fefafad gl & SR 39 & e @98 S faee g

Direction : Answer the following questions by selecting the most appropriate option.

[25/A]

91.

92.

93.

RITE PRI YR Bl ©
1) g Relire S o
2) UHISEHI TNl Sy §

3) THREHSCH @Sl S §

4) TN SErget §

T 8 BN RAREEE #9787
g7

1) Ui mRNA

2) U WK % SnRNA

3) 9 SnRNP R<RT ®R%

4) TEAIEA

U @ g & PIedd b B Th

& b I o &im & °
1) 70ml

2) 5000 ml

3) 41lit

4) 50ml

[ Level-3/1317]

91.

92.

93.

Heterocyst are the cells present in :

1) Nitrogen fixing bacteria

2) Photosynthetic autotrophic
bacteria
3) Chemosynthetic autotrophic

bacteria

4) Heterotrophic bacteria

Which one is not part of the

spliceosome ?

1) Pre mRNA

2) Five types of SnRNA

3) Non-SnRNP splicing factors

4) Ribozyme

What is the stroke volume of blood in
a healthy individual's cardiac cycle ?
1) 70ml

2) 5000 ml

3) 4lit

4) 50ml

P.T.O.



[26/A]

94.

95.

I Rl MEF | = o o &
G B, A Y code F W mRNA
4 HAElh T § JERAICES F B
1 BT ?

Met — Phe — Ser
1) AUG-UUA-UAG
2) AUG-UUU-UCU
3) AUG-UUC-UAA
4) UUU-UUA-UGG

P : IF B g A OF TR B
BT TR T E e ST
A 1190 = ol o | B £ G
|, B U Aol U W
yfafehar 3T B

1) HAF TAT TEBIT A1 Tl &

2) HIT WE & Wy WREE T
2|

3) HIYT TAT WO I & Tad
g

4) FF g F g B g T
2|

[ Level-3/1317]

94.

95.

Predict if a protein molecule have
a sequence of the following amino
acids. What may be the sequence
of nucleotide in genetic code of
mRNA ?
Met — Phe — Ser

1) AUG-UUA -UAG

2) AUG-UUU-UCU

3) AUG-UUC -UAA

4) UUU-UUA-UGG

Statement : In human eye,
there are 3 types
which
possess their own

of cones

characteristic
photopigment that
respond to red,
green and Dblue
lights.

Explanation: When these cones
are stimulated
equally a sensation
of white light is
produced.

1) Statement and Explanation are

true.

2) Statement is true but

Explanation is wrong.
3) Statement and Explanation
both are wrong.
4) Statement is wrong for human

eye.



[27/A]

96. S TEw THIHE Ak Hel od 96. Mucosal associated lymphoid tissues
Ad g ? are located with in the :
1) 9999 T % o dwaat 1) Lining of respiratory tract
2) UeN oF & faf d&ri A 2) Lining of digestive tract
3) SHTA o & A= d&rl A 3) Lining of urinogenital tract
4) aoft foeer @2 B 4) All options are correct

97. CHERd H IeR®d BIEGKED g1g 97. Metal as a catalytic converter in

HIF-Gt % ? automobile is :
1) @fe™ 1) Platinum
2) Yafezm 2) Palladium
3) feaH 3) Rhodium
4) a+ft fosper @2 B 4) All options are correct

98. f=fefed & § @H-w  Uicliis 98. Which of the following is a

Ieyq 8 ? polycarpic plant ?
1) Mg 1) Bamboo

2) W’g@ﬁ 2) Sunflower

3) HX 3) Pea

4) ST 4) Pear

[ Level-3/1317] P.T.O.



[28/A]

99.

100.

101.

dioeie (TRa) & @ ¢
1) eERel g
2) diSvS-g &l Afdis
3) Wl SUSHE

4) dUEER W 3iaghs

et & & dv-ar Sa-TErE 3
S & wieRE 7@ ?

1) SE-ggE & (T o)

2) fedidd & T
3) o ToTo IFGN AR e
4) SN WA

SICie A o121 S M 1
(sraafers) wefdfa @t S Tt @ ¢
1) -0
2) + 0
3) - +

4) + -

[ Level-3/1317]

99.

100.

101.

Arilis:

1) Integumentary outgrowth
2) Outgrowth of the funicle
3) Persistent nucellus

4) Outgrowth at the micropyle

Which of the following is not

included in  "application of

biotechnology" ?

1) Test-tube baby (In-vitro
fertilization)

2) Formation of triticale

3) Developing a DNA vaccine

4) Gene therapy

In biotic interaction, amensalism

can be represented as :
) -0
2) + 0
3) - +

4) + -



102. 9 - I § QT 0 G&f &l e - II
4 Ru U 3% o1d § GATT & A
Ru % il @eal 4 g8 SR &

g9 HINT

PieH - I
(B) I

(B) Jerrehish

(C) Jafiebmre=

(D) e
®) W
% -
&)
) ()
2)
3) (i)
4y @

[ Level-3/1317]

(B)
(iii)
(iv)

(i)

i - IT
() H

SRAINER!
(i) HFE YA,

(i) T Y=g
T§ RFTHY

(iv) Her e
I i
T afier

(v) B | T

< ® &
V) ) @
@ @) (D)
(iv) (v) (i)
(i) @) ()

with their

[29/A]

. Match the terms given in Column - I

meaning given in

Column - II and select the correct

answer using the codes given

below :
Column -1

(A) Adelphous

(B) Syngenecious

(C) Gynostegium

(D) Epipetalous

(E) Synandrous

Codes :
@A) @)

1) (i) (i)

2) (m (@)
3) (i) @
4 @O ad)

@

(i)

(iii)

(iv)

)

(iii)

Column - I1

Anthers fused,
filaments

free

Filaments
fused,

anthers free

Filaments and

anthers fused

Anther lobes
and stigma

fused

Stamens

attached to

corolla
D) (E)
iv) @
(iii) (i)
(v) (i)
iv) (W)
P.T.O.



[30/A]

103. =g & 9 feed Siifaq S 103. Which of the following does not
it @ SufRafa smasgs 7&f e ? require the presence of a living
cell membrane ?
1) faERer 1) Diffusion
2) qUuE 2) Osmosis
3) Hishd URasd 3) Active Transportation
4) GuHsRT faEwer 4) Facilitated Diffusion
104. g farepeqt oraftyd B R 104. Multiple alleles are located on :
1) T& & NESE % fafe= foe@ W 1) Different loci on same
chromosome
2) TITgA W ferar gl 2) Randomly on the chromosome
3) HHA IoTgA % GAM e W 3) Same locus of homologous
chromosomes
4) UTH B HAE W 4) On a single chromatid
105. STHRICHR Icdied &7 fpa STl & ¢ 105. Aflatoxin is not produced by :
1) YRl &) 1) Penicillium
2) FAGHE & 2) Claviceps
3) TERTAH 8N 3) Aspergillus
4) FSA B 4) Cladonia

[ Level-3/1317]



[31/A]

106. 71 & & -A1 dEew RRE B 106. Which one of the following is not
H AT TE & ? part of nerve cell body ?
1) S B HA 1) Nissel's body
2) dfedia 2) Centriole
3) NEIEIE EF&FFFE 3) Lipochrome granules
4) el 4) Myelin

107. h <A H SURYT T H HE 107. What is the role of Albumin in
R ? Blood Plasma ?
1) TUEO 9™ g0 1) Helps in osmotic balance
2) s gldfhan q 2) Involved in defence mechanism
3) T P gFR SN H 3) Involved in clotting of blood
4) B a's‘aﬁmﬁg B AT H 4) Helps in carrying CO,

108. 1 & @ A NI o T B 108. Which of the following is not a end
offew Saae 7 R ? product of amino acid metabolism ?
1) QR 1) Porphyrin
2) REIRE 2) Serotonin
3) UgHfe 3) Adrenaline
4) Zgf 4) Insulin

[ Level-3/1317] P.T.O.



[32/A]

109.

110.

111.

Fifrgie (Fféafma) Tsfrl TR
X T 8, i

1) &4 8 9291 & o

2) 989 & fo

3) fews wrewel ¥

4) SEHA (38 TH I@) §

Fret & @ U BH-5H 8/8 7

1) TF

2) 39

3) oW

4) gt ey @&

Pied - I B Pied - I & FAkw

BT AR e RU T I A qer

¥ ggl S H I PN ¢

B - I HieH - I

(a) TAH () ddfefas

(b) ST (i) M TR
3

(© IR A & (i) ddem  aen
i G S |
HET

(d) THHEEAT (iv) TAoTE
ESSIER I
ggH S
B BE B
GIS|)

%c -

@ ® @© @
1) () @) @) @)
2) () @) @) @v)
3) () @) @ @Gv)
4) (@Gv) () G @)

[ Level-3/1317]

109.

110.

111.

Why do cartilaginous (chondrichthyes)
fishes swim continuously ?

1) to avoid sinking

2) to breathe properly

3) they are predaceous

4) they are cold blooded

Which of the following is/are
Operon ?

1) Lac

2) Trp

3) Ara

4) All options are correct

Match Column - I with Column - II
and select the correct answer using
the codes given below :

Column - I Column - II

(@) Rosie (i) Antitrypsin

(b) Elisa (ii) Protein
Enriched milk

(c) ROP (iii) Test to detect
antigen &
antibody

(d) Emphysema (iv) Codes for
protein
involved in
plasmid
replication

Codes :

@ ® @© @
1) () @) @ @)
2) () @) () @v)
3) () @) @ (@v)
4) (v) () @) @)



112.

113.

114.

TEOEl § WX & B9 91§ e
(3Rem) B & ?
1) oRd 99 ¥ 180° FH AN

2) & aur 9® & 90° @& Wi

3) IO X & 180° 1 WIS

4) foRa A9 smuRafda e &

ESCILE MR EIU AR I CCHRCIRIES
T

1) TEAEMA 3o THo To § Rl
2) IR SMEOT & Te | e
3) A Ud A & TebR =Tl
4) G fafy O S A R

Frfafed & & ®iF-a1 gemeia Tk
PN S SRS © 7

1) TERE B

2) AW

3) THIFINEH TgHBREd

4) gAY THHY

[ Level-3/1317]

112.

113.

114.

[33/A]

In gastropods, which part of the
body undergoes torsion ?
1) Visceral

mass undergoes

torsion through 180°

2) Head and foot undergoes

torsion through 90°

3) The whole body undergoes

torsion through 180°

4) Visceral mass remain fixed

The three domain classification

system is primarily based on
differencesin:

1) Ribosomal RNA

2) Cell-envelop composition

3) Habitat and cell type

4) Mode of  nutrition and

reproduction

Which of the following microorganism

is 'Nature's Genetic Engineer' ?
1) Escherichia Coli

2) Neurospora

3) Agrobacterium tumefaciens

4) Thermus aquaticus

P.T.O.



[34/A]

115.

116.

1117.

AR5 q9gd &l ©

1) aAwfEg ded B d
2) U% BEd B d
3) fokka qsh B #

4) TRl fIl

e H 100 a9 SO HH & fQ
A fha o fweEl @
LT BRI 7

1) 100

2) 200

3) 50

4) 125

frfifgg & @ @@ @ @
CRECLTIER NCc M- U | GRS
HEhRH T © ?

1) TS

2) gaRA

3) <fW

4) e

[ Level-3/1317]

115.

116.

1117.

The interphase nucleus is enclosed
in :

1) Anon-porous double membrane
2) A porous single membrane

3) A porous double membrane

4) Multilayered membrane

In maize what would be the

minimum number of meiosis to

produce 100 grains ?
1) 100

2) 200

3) 50

4) 125

Which of the following is a water
proofing substance secreted by

the cork and endodermal cells ?
1) Glycocalyx

2) Suberin

3) Tannin

4) Cutin



118. F=fafad & ¥ ®9-91 & o

gRa o &
1) UR®EEA
2) ada
3) fesiieran
4) M|

119. T - I & i &l | - II §
GARTT ®< 1 QT T el i werar

?

9 @& ST & T8 HT ¢

P - I

(A) UrARESEH

(B) TS TSI

(C) TH$ IR (SER)

)R IESEIES]

(E) FrE

% -
(&)
)
2) O
3
4) (i)
[ Level-3/1317]

(B)
(iv)
(i)
(i)
(iv)

i - I
(i) SN deawor
(i) AEHEH
(iii) I
(iv) AR
(v) S
Heayor

<© ® &
@H @) (i)
(i) @) ()
(v) @) (@)
@® @) (@)

[35/A]

118. Which of the following is a parasitic

green Algae ?

1)
2)
3)
4)

Porphyra
Harveyella
Trebouxia

Cephaleuros

119. Match Column - I items with those

given in Column - II and select

the correct answer using the codes

given below :

Column - I Column - IT
(B) Polyribosomes (i) Protein synthesis
(B) Acidhydrolases (i) Lysosomes
(C) SER (i) Grana
(D) Thylakoid (iv) Mitochondria
(E) Cristae (v) Steroid Synthesis
Codes :
@ ® © O ®
) @ v @ 3Gy (i)
2) () @ 3 @Gv) @
3 @ G) (v) (i) (@)
4 (@ @Gv) @ 3d) @
P.T.O.



[36/A]

120. =4l & QST B BRI ©
1) SffERT & B
2) dfeaad B HH

3) N F FEm

4) fouT9] HehAoT

121. F=1 & @ 3|1 I &AL 78
g7
1) TieEd
2) EAnE
3) WELIE
4) SHIS9

122, @i % e ¥ H-A1 B9 FIT R ?

1) R #1 IgWa AMHEAeE Sl

2) Wl yow Oed & e )T
P ol

3) Wl & FM ® HiewA ¥ Bles
1 ST I S B

4) gug UREl § 90,000 km & Tl
AT T B A B

[ Level-3/1317]

120. Etiolation in plants is caused by :

121.

122.

1) Deficiency of Iron
2) Deficiency of Calcium
3) Being grown in Dark

4) Virus Infection

Which of the following is not a
flying mammal ?
1) Erinaceous
2) Rhinolopus
3) Cynopterus

4) Demodus

Which of the following is incorrect

for birds ?

1) Birds have monophyletic origin.

2) Birds fly on the principle of
direct movement.

3) Ears of birds have cochlea
with organ of cortii.

4) Longest distance travelled by

a migratory bird is 90,000 km.



123.

124.

125.

frpeq @ @ = Sifedl ¥ @@ @

Ty feam ®

1) G99 qrel J9r A W B G
q

2) THEEA T T AAN W B GHC
q

3) dHMA W qA G I B GHC
q

4) PN I T OTA WS B
e |

I S O 2 N
uRaws @ gl e A 9 fhad mel
g7

1) Selaiad 680 HioHo

2) THIZEEE 900 HioHo

3) MU=td A 1450 HioHlo

4) T T T T

Frer o & g T § aEiead G
78] Ur% A § 7

1) o 71 |ihe

2) fude iy

3) HABRRA

4) f&=1 @iy

[ Level-3/1317]

123.

124.

125.

[37/A]

'Hisardale' is a new breed of sheep

developed from :

1) Developed by crossing of

Punjab lohi and Marino rams

2) Developed by crossing of

Bikaneri ewes and Marino rams

3) Developed by crossing of

Bikaneri rams and Punjab ewes

4) Developed by crossing of

Bikaneri ewes and Mandya sheep

Which of the following is correct
for human brain capacity in the

process of evolution of man ?
1) Homohabilis 680 cc
2) Homoeractus 900 cc
3) Neanderthal man 1450 cc

4) All statement are correct

Which one of these does not have
synovial joint ?

1) Ball and Socket

2) Pivot joint

3) Vertebrae

4) Hinge joint

P.T.O.



[38/A]

126. 1 & § PH-a1 WAes ari=r or 126. Which one of the following is not a
TETR ? aromatic amino acid ?
D CESESIk| 1) Tyrosine
Z) B IESIEIE 2) Phenylalanine
3) ddH 3) Valine
4) w 4) Tryptophan
1217. W’@ﬁzﬁ SN ¥ SERaad heaEy 127. Genetic disorder caused due to
ﬂ]ﬂﬁﬁﬁﬁ frere 2 pleiotropic gene mutation is :
1) sSi&q i%l?;ﬁq 1) Down syndrome
2) BT # ﬁ@'ﬁl 2) Huntington's syndrome
3) fuaRes wEsiftE 3) Cystic fibrosis
4) o ﬁvﬁiﬁ'&ﬂ 4) Phenyl Ketonuria

128. daeE At & = wwi @ 128. The fallopian tube extends from
3fe1e™ | TG T B e HT © - ovary to uterus. Which is the correct

sequence of parts of oviduct ?

D HIH — gIr:GICbI - U 1) Infundibulum — Ampulla —
Isthmus
2) W — gitelqvl e RED 2) Isthmus — Ampulla —
Infundibulum
3) FTH — T — FFaH 3) Infundibulum — Isthmus —
Ampulla

4) st — D0 — 9 4) Ampulla — Infundibulum —

Isthmus

[ Level-3/1317]



129.

130.

131.

THASIIS, HAC &aeh I YU
B ®

1) iem A
2) Beicafn o
3) i
4) Ui |

Frfofad & @ Se-a1 ARes i
T8 ?

1) SR

2) RENE

3) RHMEd

4) TEERE

frafofag & & d9-a1 e @
fhdl ff o9 & WU H Gohal
g7

1) T
2) T
3) S
4)

[ Level-3/1317]

129.

130.

131.

[39/A]

Monosporic eight nucleate
embryosacisin:

1) Allium

2) Frittilaria

3) Plumbago

4) Polygonum

Which of the following is not a

nastic movement ?
1) Phytonasty

2) Seismonasty
3) Thigmonasty

4) Nyctinasty

Which of the following Taxonomic
term may be substituted for any of

the others ?
1) Order
2) Taxon
3) Species
4) Class

P.T.O.



[40/A]

132.

133.

134.

TYURE SHIT AT A &

1) RS H
2) Hex ¥

3) o H

4) Yok §

EEA KILEE B S ER IS | I
1) Th A 4

2) Th STPNH T H

3) T %a% d

4) T% URY |

Frfoiad & & HH-a1 ToIEA STias
Dol BB & 7

1) &9

2) W

3) Rtz s

4) SR

[ Level-3/1317]

132.

133.

134.

Epigeal germination is observed

in:

1) Castor

2) Pea

3) Mango

4) Groundnut

Taq polymerase is obtained from :

1) An archea

2) An artificial chromosome

3) A fungi

4) A plant

Which of the following enzyme is

known as the molecular scissors ?

1) Lyase

2) Ligase

3) Restriction endonuclease

4) Opines

Download from www.MsEducationTv.com



135.

136.

A S9-g-TEENE T Bl TN
AR & W 2

(8) NO, — NO, (TEgHe ¥ TEge)
(b) N, — NH, (TGS & i)
(¢) NH, — NO, (smifvae & TrEge)

(d) NO; — N, (TEge & EgeH)
Y TG 9 § ¢

(@ (b) () (d)
1) TESAMNE Teih FEMAE TRt

2) TEHH RGN TREEHAE Aeih

3) & TREEMAE TEgNae ‘M

4) TEREERY S TR QA

e qaferdl @t afdsieiga qaell %al
S § 7

1) 8,9,10

2) 197

3) 11qaria

4) BHT

[ Level-3/1317]

135.

136.

[41/A]

Chemical reactions involved in
bio-geo-chemical cycle are given
below :

(@) NO, — NO, (Nitrite to Nitrate)
(b) N, - NH; (Nitrogen to Ammonia)
() NH, — NO, (Ammonium to Nitrite)
(d) NO; — N, (Nitrate to Nitrogen)

The organisms associated with

them are :

€Y () ©
1) Nitrosomonas Nostoc Pseudomonas
(CY)
Nitrobacter
2) Pseudomonas Nitrobacter Nitrosomonas
Nostoc
3) Nostoc Nitrosomonas Nitrobacter

Pseudomonas

4) Nitrobacter Nostoc Nitrosomonas

Pseudomonas

Which of these ribs are known as

vertebrochondral ribs ?
1) 8,9,10

2) lto?

3) 11&12

4) 5to?

P.T.O.



[42/A]

131.

138.

139.

Uh @ AR & ok AR
Frredes ofsr & @

1) .002
2) .20
3) .02
4) 2.0

T % Hiksh H o HRqe  fiecrl
(AfFf) @1 9T & o @ R gal
P S

1) SPHXR — WHES — TEMH
2) TIER — TEAH — WRFHAES
3) TEME — TIHN — WFHAES

4) TEHT - WpEE — FTMKX

AFIGERRE A & S
d S TRl T Starpel | defd
g7

1) EEMAE e

2) TGISFRIRIH

3) 1) 3 2) A

4) T 9 g A 7

[ Level-3/1317]

131.

138.

139.

The filtration fraction in uriniferous

tubule of a healthy person is :

1) .002
2) .20
3) .02
4) 2.0

Which one is the correct order of
cranial meninges in human brain

from outer to inner side ?
1) Duramater — Arachnoid —
Piamater

2) Duramater — Piamater —
Arachnoid

3) Piamater —» Duramater —
Arachnoid

4) Piamater —» Arachnoid —

Duramater

Biodegradation of organophosphorous

compounds of xenobiotics is

associated with the bacteria :
1) Pseudomonas diminuta
2) Flavobacterium

3) Both 1) & 2)

4) None of these



140. DNA e d 6 debriichl Hl HH
T foran S B 7
1) JHERN glo ToTo
2) SloTHoUo ¥ TE&U

3) TS TS & e den
4) uf fospeq @2 B

141. S & § P9-9 P99 TaT e ?

L TR o & @ AR
T % TR TelEr B

I, R &g 99e N & ]
g% euygd § uRaffa 2 B

M. Woead & WReEe a6 d
Ted A9 & PR et &
Bl

IV. @cqq @V, °RhREE a9l dquid®
A ol

1) 1d9II

2) 131l

3) LAV

4) NIV

[ Level-3/1317]

[43/A]

140. Which of these technique is used

141.

in DNA fingerprinting ?

1)
2)
3)

4)

Repetitive DNA
Polymorphism in DNA
Variable no. of Tandem repeats

All options are correct

Which of these statements are

incorrect?

L.

II.

II1.

Iv.

1)
2)
3)

4)

Filarial worm is a dreaded
parasite of human blood and
lymph.

Cysticercus develops in adult
tapeworm inside the secondary
host's body.

Sporozoite of plasmodium
infact man through liver cells
first.

Bed bugs transmit plague,

typhoid and tuberculosis.
Iand III

Iand II

IIand IV

III and IV
P.T.O.



[44/A]

142, TEERAT § sﬂﬁ Y DE-T B B 142. Which one of the cranial nerve is

G- § 7 glossopharyngeal in mammals ?
1) IX ) X
2) X 2) X
3) V 3) V
4) XII 4) XII
143. 37 9 9 ‘§Ma @ ACD” Hal 143. Which one of these is known as
S "Terror of Bengal" ?
1) ma el 1) Bengal Cat
2) S I 2) Bengal Gram
3) aqm‘cﬁﬁm BRI 3) Eichhornia crassipes
4) TS A 4) Bengal Monitor

144. F=afed & § $i9-a1 AR Fe 144. Which of the following is not true

AR F ag 7 E ? about the Genetic code ?

1) & FERY ? 1) Itis unambiguous

2) g U< g 2) Itis degenerate

3) T Heqsh g 3) Itis read in contiguous fashion
4) Ig NS & 4) Itisuniversal

[ Level-3/1317]
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[45/A]

145. [deHIC FeeiX N A R 145. Wilmott's bubbler is used for :
D IS & T4 § 1) Transpiration experiments
2) YUIT AT & TN | 2) Photosynthesis experiments
3) URY giE e | 3) Plant growth studies
4) 9RY Hdh e | 4) Plant tissue culture
146. H9, B o o e @ 146. A moss differs from a fern in
having :
1) 3T¥d EﬂﬁTﬂ?ﬁlﬁ: % BT 1) A dependent sporophyte
2) WaA m@g ® BN 2) Anindependent gametophyte
3) gt Taa & B 3) Alternation of generations
4) Tigel| X W % BT 4) Motile male gametes

147. frefafeq § @ &F-a1 r-=3@¥a S 147. Which of the following is not a

T T FETE 7 characteristic of r-selected species ?

1) T2 9 ¥ gald S $d o 1) Produce large number of
progenies

2) aﬂ'cﬁ T 2) Parental care

3) @Rd YA 3) Reproduce quickly

4) €l H = A X 4) Low survival rate of progenies

[ Level-3/1317] P.T.O.



[46/A]

148.

149.

150.

fafes o =% ®, F=fofaa & @
fre =R § BReR @ (FeRe dda)
W HERIRTHRTT 8ar 8 7

1) | » TEHE

2) HT — SRR

3) WFAEA CoA — HFT
4) IEHMEE — o-HICERT

Fr=ticifed & @ 97 &l 3R #1 ¢

1) EEH
2) o

3) THE
4) W

98 ufka e T ofi T /et

I Yeiid HC Gl o, Hear © -

1) g fascdl
2) eI
3) HiHhRT
4) Ul

148.

149.

150.

In citric acid cycle, substrate level
phosphorylation takes place in

which of the following step ?
1) Succinate — Fumarate

2) Malate — Oxaloacetate

3) Succinyl CoA — Succinate

4) Isocitrate — a-Ketoglutarate

Find the odd one out from the

following :
1) Ribose
2) Sucrose
3) Glucose

4) Fructose

The phenomenon in which a single
gene may express more than one

effect is known as :
1) Multiple allelism
2) Pleiotropy

3) Mosaicism

4) Polygeny

[ Level-3/1317]
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6.

usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

T B FISH-E[W 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk X AT IR S Sk H I q&a of 9d o1 (Fhe wgs) & T (s 21/
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
Th d I JifFT B B I8 IY To Tef o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 oW T B AT 7 9 Ud 39 W HE I M T ) ot ot i St W # feEiRa e
% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

Y- T I T B ANEE T H, Fie e 9 oRRefd § [eT-gRae 0 St T & B § @ R &
@3%_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W = ° U T wHiw gt T % ¥ =R’ I ¥ fT€ / The candidates should write the correct Number as

given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle Ad/H F HAY W R UEEM U & SiiRed R SR @ ureg-ar, a1 ST FEST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHAT AT TR ST TR & G B S A7 SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S TX UA% TRt oo Wae S A o] 9 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

F% ordfes @1 wdwe @ AW aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR fhU A ol wlen & e 818 ARk fed vl A
A R WK A W EWRR Te Y q a8 A O % I IO T AE Aern & AR Fe ST | H A qE S
OMR T T% 7 FHiRG @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey e & &6 919 &
& Tl WY R @ g A & & @nd oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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